
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

4317, 6 × 0.0001 = ________ 6465, 2 × 0.1 = ________

6690, 1 × 0.0001 = ________ 7446 × 0.001 = ________

6777, 2 × 0.01 = ________ 9098, 6 × 0.0001 = ________

4124, 4 × 0.1 = ________ 3768, 4 × 0.1 = ________

5611, 8 × 0.0001 = ________ 7757, 7 × 0.001 = ________

8649, 2 × 0.001 = ________ 6611, 7 × 0.1 = ________

3284, 7 × 0.001 = ________ 3284, 6 × 0.001 = ________

2546 × 0.001 = ________ 6868, 7 × 0.0001 = ________

4060, 5 × 0.001 = ________ 5767, 4 × 0.001 = ________

8252 × 0.1 = ________ 7642, 3 × 0.0001 = ________
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

4317, 6 × 0.0001 = 0.43176 6465, 2 × 0.1 = 646.52

6690, 1 × 0.0001 = 0.66901 7446 × 0.001 = 7.446

6777, 2 × 0.01 = 67.772 9098, 6 × 0.0001 = 0.90986

4124, 4 × 0.1 = 412.44 3768, 4 × 0.1 = 376.84

5611, 8 × 0.0001 = 0.56118 7757, 7 × 0.001 = 7.7577

8649, 2 × 0.001 = 8.6492 6611, 7 × 0.1 = 661.17

3284, 7 × 0.001 = 3.2847 3284, 6 × 0.001 = 3.2846

2546 × 0.001 = 2.546 6868, 7 × 0.0001 = 0.68687

4060, 5 × 0.001 = 4.0605 5767, 4 × 0.001 = 5.7674

8252 × 0.1 = 825.2 7642, 3 × 0.0001 = 0.76423

www.snowmath.com

https://www.snowmath.com

